UBUNGSKONIG
Nachbarzahlen 8

1. Trage die Nachbarzahlen ein.

Nachbarzehntausender

Vorganger 70 000

Zahl 75 202 52 542 26 429 42 420 15 429 34 967
Nachfolger
Nachbarhunderter
Vorganger
Zahl 25 459 22 657 33 257 42 069 52 157 72 551

Nachfolger 25500

Nachbartausender

Vorganger 62 000
Zahl 62 154 34 222 35 257 29 921 73 253 90 522
Nachfolger

2. Rechne mit verwandten Aufgaben.

200 + 700 = 320 + 500 =
2000+ 7000 = 3200+ 5900 =
20 000 +70 000 = 32 000 + 59 000 =
456 + 290 = 228 + 500 =
4560+ 2900 = 2280+ 5000 =
45 600 + 29 000 = 22 800 + 50 000 =
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